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10.

CHAPTER

2

0.125+0.027
m isequalto  (SSC CGL 1°Sit. 2010)
@@ 03 ® 05 (o) 08 @ 09

The sum of the series
(1+0.6+0.06+0.006+0.0006+....)is
(SSC CGL 1%t Sit. 2010)

2

2 1 1
(a) ]5 (b) 15 (c) 25 (d) 25

Jo,ooo < 0.036x0.016x0.08 _ |
0.002x 0.0008%0,0002 ' cquatto
(SSC CGL 15 Sit. 2010)

(a) 34 (b) 36 (c) 38 (d) 39
The square root of 0.09 is (SSC CGL 1%t Sit. 2010)
(a) 030 (b)y 0.03 (c) 0.81 (d)y 0081

The number 0.121212.... in the form % isequal to

(SSC CGL 1% Sit. 2010)

4 2 4 2
(@ I (b) T () T (d n
By what least number should 675 be multiplied so as to
obtain a perfect cube number ? (SSC CGL 2nd ¢, 2010)
(a) 3 (b) 5 (c) 24 (dy 40
(ll+lll+llll+lllllJ i
5 5 5 5) 1 equal to

(SSC CGL 2™ Sit. 2010)

(a) 1236 (b) 1234% (c) 618 d 617
0.001 is equal to (SSC CGL 2" Sit. 2010)
1 L 1 P
@ Tooo ©® 999 © G @ 5
441x016 e
2 1x1.6x021 is simplifiedto (SSC CGL 2" Sit. 2010)
(@) 1 (b) 0.1 (¢) 0.01 @ 10
256 25(: ]‘2' 44144 4 equalto (SSC CGL 2M Sit. 2010)
(@) 420 (b) 400  (c) 360 (d 320
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Simplification and Square
& Cube Root

(12422 +32+ ...+ 10%)isequal to
(SSC CGL 2 Sit. 2010)

(a) 380 (b) 385 (©) 39 (d 392
1 1 1 1
(SSC CGL 2™ Sit. 2010)
2 b L
(a) Y (b) 25
19 o L
© '3 @ 335

5
—\ =5/3
([ —?:\
Simplified form of L X J is

(SSC CGL 2™ Sit. 2010)

1
() —

X

(a) ¥ ® x5 (© x

(0.1 x0.01 % 0.001 x 107)is equal to
(SSC CGL 2™ Sit. 2010)

1
(©)

(a) 100 (b) 10 100 (d 10
The least the fracti B E 2—4 3—4 i
€ leasl among the Iractions ]6,20,25’35 18
(SSC CGL 2™ Sit. 2010)
O N
(@) 35 (b) T3 (c) 20 (d) 75

— P
1.27 in the form a isequalto  (SSC CGL 2% Sit. 2010)

B 14 o 4
@ 0 ® 0 ©T1 @ 17
3.25x320-320x305 .
0,064 is equal to
(SSC CGL 2™ Sit. 2010)
(a) 1 by = (c) 10 (d) 10
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26.
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28.

Out of six consecutive natural numbers, if the sum of first
three is 27, what is the sum of the other three ?
(SSC CGL 2" Sit. 2010)

(@) 36 (b) 35 (c) 25 d 24
(0.1)> =(0.01)° A
00001 Y isequalto (SSC CGL2"Sit. 2010)
@ 1010 (b)) 110  (c) 101 (d 100
V6+46+46+.. —9 (SSC CGL 1%t Sit. 2011)
@ 23 b) 3 (c) 6 (d 63
(3+42) e
The square root of Liﬁ—«ﬁJ is (SSC CGL 15t Sit. 2011)
@ 3+42 b) 3-42
© 2143 @ 2-43
21,2
The value of —3 1“ is  (SSC CGL 15t Sit. 2011)
3+ 1
3+ 1
34—
3
38 109 116
@ 1700 ® F¢ ©I1 @ 100
The value of 3\5 - 46 - \/'E is
Vo Je+v2 B2
(SSC CGL2011)
(@ 4 by 0 © 2 (d 36
(0.05)% +(0.41)% +(0.073)>
(0.005)2 + (00412 +(0.0073)2 5 (SCCGL20ID
@ 10 (b) 100
(c) 1000 (d) None of these
If 94/x = /12 + 147 ,thenx=? (SSC CGL2011)
@ 2 (b) 3 (c) 4 d 5
127
31_% is equal to (SSC CGL 2™ Sit. 2011)
E ]_l i d 1_2
@5 O -2 ©z @ 1-3

If the sum of two numbers be multiplied by each number
separately, the products so obtained are 247 and 114. The
sum of the numbers is (SSC CGL 2™ Sit. 2011)
@ 19 (b) 20 (c) 21 d 23

Find a number, one—seventh of which exceeds its eleventh
part by 100. (SSC CGL 2" Sit. 2011)
(@ 1925 (c) 1540 (dy 1340

(b) 1825
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43 +52
If m =a + b.fe, then the values of a and b are

respectively (SSC CGL 2M Sit. 2011)
9 4 )

@ 15715 ® 1733
92 q 3.4

© 10’3 @ 335

2
If x+)——4—f =10, then the value of x is

3+
5+3
6
(SSC CGL 2M sit. 2011)
1276 b 53 435 o9
@ 535 ® & ©4 @

1 1 1
3+—+ +—
The value of B 3+03 B3 is
(SSC CGL 2™ Sit. 2011)

@ 3+43 (b 3 © 1 @ o
A student was asked to divide a number by 6 and add 12 to
the quotient. He, however, first added 12 to the number and
then divided it by 6, getting 112 as the answer. The correct
answer should have been (SSC CGL 2M Sit, 2011)
(a) 124 (b)y 122 (c) 118 (d 14
Last year my age was a perfect square number. Next year it
will be a cubic number. What is my present age?

(SSC Sub. Ins. 2012)
(b) 27 yearss
(d) 24 years

What is the value of (2.1)% x ,J0.0441 ?
(SSC Sub. Ins. 2012)

(a) 25 years
(c) 26 years

(a) 09261 (b) 9261 (c) 9251 (d) 09251
The value of /1372 x /1458 is  (SSC Sub. Ins. 2012)
(a) 116 (b) 126 () 106 (d 136
547.527 547527 .
If 0.0082 = X , then the value - 18 :
(SSC CHSL 2012)
X
(a) 1x (b) 10x (o) 100 (d) 0
If /3" = 27, then the value of n is: (SSC CHSL 2012)
(@ 9 (b 6 (© 1 @ 3

From 9.00 AM to 2.00 PM, the temperature rose at a constant
rate from 21°C to 36°C. What was the temperature at noon ?

(SSC CHSL 2012)
(a) 27°C (d) 285C

(b) 30C (¢) 32C

www.jkchrome.com
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49.

The value of [\’6+ Jé +4/6+ ,...,,.upto..,ocJ is equal to

(SSC CGL 1% Sit. 2012)

@ 3 (b) 10 (c) 8 @ 2
If \J6 x /15 = x/10 , then the value of x is
(SSCCGL 2012)
@ 3 ® =3 © 5 @ 6
3445 1
3- PR is equal to (SSC CGL 2012)
3 5
@ 0 ® 3 (c) % @ 5
A farmer divides his herd of n cows among his four sons, so

that the first son gets one-half the herd, the second one—

1
fourth, the third son 3 and the fourth son 7 cows. Then the

value of n is (SSC CGL 2012)
(a) 240 (b) 100 (c) 180 (d) 140

By what least number should 675 be multiplied to obtain a
number which is a perfect cube? (SSCCGL 2012)

@ 7 (b) 8 (c) 5 d 6
If 2/x = ﬁiﬁ-g;g , then the value of x is:

(SSC CGL 2 Sit. 2012)

(a 6 ® 0  © V5 (@ 15
1+876542x 876544
376543876543 1S equal to (SSCCGL 2012)
(@) 3 ® 0 (! @ 2
The simplest value of

1 1 1 1
—_—t ~ +—=Fis
V243 Beda a5 546

(SSC CGL 2012)

@ 3(v2-1) () V243-1)
@ 3-1 d 2-1

If21 is added to a number, it becomes 7 less than thrice of the

number. Then the number is (SSC CGL 2012)
(a) 14 (b) 16l (c) 18 (d 19
V32 +/48

The simplified value of W is
(SSC Multi-Tasking 2013)

@ 4 (b) 3 © 2 @ 6

9.5%x0.085 ) .
JWT equals (SSC Multi-Tasking 2013)
@ 3 B 0 (© 00 (@ 005

3 www.jkchrome.com
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50. The value of 1+ is: (SSC Sub. Ins. 2013)
1+ ——

3+i
5

12 8 48
® 5 ©

29
The value of
J19.36 +/0.1936 +/0.001936 ++/0.00001936 Is:

(SSC Sub. Ins. 2013)
(b) 48694 (c) 48884 (d) 48234
among the following numbers

29

(a) 19

(d)
51.

(a) 4.8484
The greatest

L 1
(3)3.(2)2,L,(6)6 is:

52.

(SSC Sub. Ins. 2013)

! 1 1
@ 2 (b 1 © ©°5 @ @3

53. The value of /40 4 ,/0,/8] 18
@ 1 ®  Jir (@ 9
54. Which is greater 37 or \f3 ?
(@)
(©

(SSC CHSL 2013)
(@ 7

(SSC CHSL 2013)
(b) Cannot be compared
@ 3

1 1 1
H o J i E——
55. Find the value of \E »f?_;+3 \/5—3

Equal

P

(SSC CHSL 2013)
(a) 6

®) 3
_3

2(J3+3) d 23

56. Ifanumber is as much greater than 31 as it is less than 75,

(c)

then the number is. (SSC CHSL 2013)
(a) 53 (b) 106 (c) 4 (d) 74
N3 a7 2x
57. IF[E) (5] =[ZJ ,thenxis: (SSC CGL 15t Sit. 2013)
(a) 2% (b) 2 (c) 2 (d) 5
58. Number of digits in the square root 0of 62478076 is :
(SSCCGL2013)
(@ 3 (b) 4 (© 5 d 6

3 3
59. A rational number between 2 and 3 is (SSC CGL 2013)

16 )
@ 5 ®) T

12 07
© = @ 5
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63.

64.

65.

66.

67.

68.

69.

70.

71.

Find the simplest value of 2./50 +./18 —f72 (given
J2 =1.414). (SSC CGL 2013)

(a) 10312 (b) 8484 (c) 4242 (d) 9898

The numerator of a fraction is 4 less than its denominator.
If the numerator is decreased by 2 and the denominator is
increased by 1, then the denominator becomes eight times

the numerator. Find the fraction. (SSC CGL 2013)
4 2 3, 3
@ g ® > ©F @

Ifx2=y+z y>=z+xand 22 = x +y, then the value of
1 1 1

——t——t— s

(SSCCGL 2013)
I+y

@@ 2 (b) 0 © -1 d 1
Ifa=2, b=3,then (a’+ b9 'is (SSC CGL 2™ Sit.2013)
1 1 1 1

— d —
31 ®) 17 © 21 @ 13

The smallest positive integer which when multiplied by 392,
gives a perfect square is (SSC CGL 2" Sit. 2013)

(@)

@ 2 b 3 © 5 @ 7
The fourth root of 24010000is  (SSC CGL 2" Sit. 2013)
@ 7 b 91  (@© 40 (@ 7

The greatest 4 digit member which is a perfect square, is
(SSC CGL 2™ Sit. 2013)

@ 99 (b)) 909 () 9801  (d) 9081

The value of 433 is (SSC CGL 24 Sit. 2013)
7+43

(@ 53-8 () 543+8

© 8J3+5 @ 8/3-5

Which one of the following is the minimum value of the sum
of two integers whose product is 247
(SSC CGL 2M Sit. 2013)

(@) 25 (b) 11 (© 8 (d 10
If (2°)?=4%then 3*isequalto  (SSC CGL 2" Sit. 2013)
(@ 3 (b) 6 (© 9 d 27

V24 6
Evaluate 236 (SSC Sub. Ins. 2014)
(@ 2 (b) 3 (c) 4 d 5

The value of 3+{(8—5)+{(4—2)+[2+%}H is

(SSC Sub. Ins. 2014)

15 w B
(@) 7 (b) T
15 g B
© 75 @ 79

4 www.jkchrome.com
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If'+' means'+','x' means ', "'+ 'means 'x' and ' means '+,
what will be the value of the following expression?
9+3:4-8x2=7 (SSC Sub. Ins. 2014)

3
-1=

3
) 65 ,

4
The next term of the sequence,

(90D 90D D

(SSC Sub. Ins. 2014)
(1+3)
®) (1+5
1 1
1+ —] (1 - —)
@ ( 2)U75
The simplified value of

(V6 -+~ 21 - 55) (V6 -0 + V21 -55) is

(SSC Sub. Ins. 2014)
@ 10

1
@ 65 © @ 18

(a) 3

(c) 5

@ 13 b 12 (© 1

1
Ram left 5

remainder to his daughter. He gave the rest to his son who
received ~ 6,400. How much was his original property worth?

3
of his property to his widow and 5 of the

(SSC CHSL 2014)
(a) "16000 (b) °32,000(c) ~24,000 (d) " 1,600
Which one of the following is true?  (SSC CHSL 2014)

@ J5+B>46+4402 0 S5+B<Jo+42
© 5+B3=V6+2 @ (5+3)W6+42)=1

Arrange the following in ascending order
334,251 717 we get (SSC CGL 15! Sit. 2014)
(El} 334}25|}7]7 (b} 7|T}25|)_334

(©) 334 5 7175 951 (d) 251 5 3345 717
2km 5m is equal to: (SSC Sub. Ins. 2015)
(a) 2.005km (b) 2.0005 km
(c) 2.5km (d) 2.05km
The simplified value of
(0.0539— 0.002)x0.4+0.56x0.07 ‘
0.04x0.25 .
(SSC Sub. Ins. 2015)
(a) 5996 (b) 5996 (c) 059% (d) 599
\JIO + JES + \/108 +4J154 +4/225 o
38
(SSC Sub. Ins. 2015)
1
@s 05 ©V% @

www.jkchrome.com



81.

82.

83.

85.

87.

89.

If 32x-y =3x+y = /27 , then the value of 3x-Ywillbe:
(SSC Sub. Ins. 2015)

(@) :/% (b) % © 3 @ 3

The simplified value of following is :

(%as b¢® x gabSC"] B %azbc'j (SSC CHSL 2015)
@ %azbc4 ®) 1%34])4010

©) %a4b10c4 (d) l—?’aab“c3

In an exam the sum of the scores of A and B is 120, that of B
and C is 130 and that of C and A is 140. Then the score of C
is: (SSC CHSL 2015)
(a) 65 (b) 60 (c) 70 d 75

The sum of four numbers is 48. When 5 and 1 are added to
the first two; and 3 & 7 are subtracted from the 3rd & 4th, the

numbers will be equal. The numbers are
(SSC CGL 1% Sit. 2015)

(b) 5.11,13,19
(d 9.7.15,17

(a) 4,12,12,20
(c) 6,10,14,18
The value of
11 . 11 . 1
76 o5 5-2 B-T 3-B"
(SSC CGL 1°' Sit. 2015)
(c) 5 (d 7

@ o (b) 1

. Choose the incorrect relation(s) from the following:

(SSC CGL 1% Sit. 2015)

D Jo+v2=5+3
i@ Jo+42<5+43

(i) 6++2>/5+43
@ @O
(©) (i)and (i)

(b) (ii)
(d) (ii)and(iii)

1
- —— + nd g;
Ifx ) then (x + 1) equals to (SSC CGL 2" Sit. 2015)

@ 2 b J2-1
© 2+1 @ 2
3 , 1 5
. If 2 of a number is 7 more than 6 of the number, then 3 of
the number is : (SSC CGL 2015)
(@ 15 (b) 18 (c) 12 (d 20
(2.3)° +0.027
The value of (2.3F —0.69+0.09 is:  (SSC CGL 2016)
(a) 2 (by 227 (c) 233 (d 26

5 www.jkchrome.com
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If the numbers 39 420 .§/25 are arranged in ascending
order, then the right arrangement is (SSC CGL 2016)

@ $25<320<Po
®) Po<20<2s
© ¥20<825<3P
@ $25< <0

If ;=E,thenthevalueofa+b+c
1 23
a+ I
Tl
2

(SSC Sub Ins. 2016)

@ 6 (b) 3 © 9 @ 12

1 2
The sum of two numbers is 15 3 and their difference is 4 3

The product of the numbers is (SSC Sub Ins. 2016)

2 1
(a) 50 (b) 48 3 (c) 53 3 (d 60
If2x—3(2x—2)>x—1<2 + 2x, then x can take which of the
following values? (SSC CHSL 2017)
@ 2 (b -2 (© 4 @ 4

If N=/7=3)/(y/7++[3), then what is the value of
NH1/N)? (SSC Sub. Ins. 2017)

@ 22 ® 5 (©) 10 (d 13

What is the simplified value of 2+ 1) (22+ 1) 24+ 1) (28 +1) ?
(SSC Sub. Ins. 2017)

@ 285-1 () 2%—-1 (¢ 22-1 (@ 2641

5.75%5.75x5.75+3.25x3.25x3.25 .
is equal to:
57.5%57.5+32.5%32.5-57.5%32.5
(SSC Sub. Ins. 2018)
(c) 0009 (d 009

@ 00009

Thevalueof?:l— 21— E-(£+i-i) is
5 2 |6 \5 10 15

(SSC Sub. Ins. 2018)

6
(d) 3

(b) 09

10
5§+ 22- 32(31-&91] is equal To:
6 3 41 5 2
(SSC Sub. Ins. 2018)
44 43

®7 @2 O 23—2

® © =

www.jkchrome.com



0.01404
W 6144
(SSC CHSL-2018)
(b) 6% 1075
(d) 3x10™

99. Thesimplified value of

@@ 3x107°
(© 24x107
100. The simplified value of

Logd. 21—[i+3x13;3] is: (SSC CHSL-2018
25T s e T s g -2018)

1

1
(@) 2 (b) 4 © 3 d 5

101. The valueof4.5—(3.2+ 0.8 x5)+3 x4+ 6is:
(SSC CGL-2018)
(a) —-13.5 (b) 42 (c) —85 (d 57
102. The value of 15.2 +5.8 +2.9x 2 —3.5 x 2+ 0.5 is equal to:
(SSC CGL-2018)
(a) 48 (b)y 32 (c) 52 (d 54
103. What is the value of

(9+30)2x2.4+030f12x(1-0.32+9x (0.32=2

(SSCMTS 2018)
(a) 343 (b)y 3.69 (c) 2.79 (d 217
104. What is the value of:
20f3+3x2+{4x3—-(5x2+3)}=? (SSCMTS 2018)
(a) 3 (b) -24 (c) 6 (d -21

105. If *+* means ‘", *~" means ‘+’, *x” means ‘<’ and ‘+’ means,
42 —12x3+8+2+15
8x2-4+9+3 I8¢
(SSC CGL 2019-20)

15 5 15 5
@ 19 ® -3 © -5 @ 3

106. What is the value of 32 x 4 of 2 x 3 +

*x’, then the value of

5
[s of6—{7 of 8(10+6 ofgxs-1)+30}]_7x3+z?

(SSC MTS 2019-20)

@ 75 b) 175 d 245

107. What is the value of

() 125

72+9+3-6—(2x3)+5 of3—(1+5x2-2) |
8+4+2—(6x8+2)+(7x4—2x2]

(SSCMTS 2019-20)
11 5 15
() vy (b) 1 (© 0 (d) T

6 www.jkchrome.com
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= 4 and £ = Bl , then the sum of the numerator
3 d 6

108. 1r3=§,
b 4 ¢

10
and the denominator (which are coprimes) of [3} is:

(SSC MTS 2019-20)
@@ 1025 (b) 4097 (c) 249  (d) SI3
109. The value of 90 = 20 of 6 ¥ [11 + 4 of {3 x2 — (3 —8)}] +
(9+3 x2)is: (SSC CGL 2020-21)
9 3 1 1
@z ®F5 ©3% @5

8
110. Simplify the following expression. (SSC CHSL 2020-21)

Sl+ ?—3+(I—L]xz+] —-3+1+2
3 4/ 3

® 0

1

(d) a1

111. Thevalueofl+zof[£+2:l+[lxg—i:l is:
10 5[0 5] 10 47 47
(SSC MTS 2020-21)
© 0 @ 5
' (SSC MTS 2020-21)

(a) 15 c) — 4

(@ 1 (b) 10
112. What is the simplified value of

4—# +1£0f£—[4+3+0,5—1)>?
2 12 145
24—

@ 1 ®) -4

© -2 @ 3

40 23 of 32
113. Thevalueof is: (SSC Sub-Inspector 2020-21)

37-=of (34-6
2 ( )

1
(a) (®) 1 © -3 (d 0

2

1 1
114. Thevalue of 8—3+60f 2 +(4+4 ofz)+8+(4 x 8+ Z) x

1

E is : (SSC Sub-Inspector 2020-21)
T T g T

@5 ©® -3 ©-7 @ 5

6.35x6.35x6.35+3.65x3.65x3.65 .
is equal
63.5x63.5+36.5%36.5-63.5x36.5

to: (SSC Sub-Inspector 2020-21)
(a) 0.1 (b)y 10 (c) 1 (d) 0.01

115. The value of

www.jkchrome.com



10.

11.

12.

13.

(©)

@)

(b)

@)

(©
®)

(@)

(b)

(@)
o)

b)

e

(a

(©
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HINTS & EXPLANATIONS

If0.5=aand 0.3=bthen,
a’+b’

Expression = -
a-—ab+b

_(a+b)(a® —ab+b?)
a’ —ab+b’
1 +0.6+0.06 +0.006 +0.0006 + ... = 1.666...

=a+b=05+03=08

= _=l—= —
1.6 9 '3

Expression

_‘lo,oogxo,msxo.msxo.os _J9x32x16x8
0.002x0.0008x 0.0002 2x8x2
=3x2x3x2=36

+0.09 =4/0.3%0.3=0.3

0.121212..=0l2=2 -4
99 33

675=5x5%x3x3%3=5

No. to be multiplied

1 | 1 |
I—+11=+111—=+1111—- = +2=
2 2 2 2 1234+2=1236

0001=_1
441x0.16 441x16

2.1x1.6x021  2Ix16x21
If256 =aand 144 = b, then

a’—b?

a-b
[a—b=256—144=112]
_(a+b)(a-b)
~ (a-b)

=a+b =256+ 144=400

_n(n+ D((2n+1)
B 6
10(10+1)(20+1)

P+2243+ .. +n

S PE2+3+ L+ 102= =385

(-3)0-30-9)- (-3~

4 23 24 2
x_ —

=—X—X—_... x =—
5 24 25 25
s s
-5 —x——x3
(s —3;5)3 (—?5 3
= LX J = =TM—=x
X

14.

15.

16.

17.

19.

20.

21.

22,

@
)

(©)

@

. (a)

@

)

(@)

(@)

www.jkchrome.com

0.1 x0.01x0.001 x10"=10"*x 10"=10
15 19

o1 3
- 9911 11
3.20(3.25-3.03)
0.064
320%020

0.064 10
8+9+10=27
11+12+13=36
So, let 3 consecutivenox,x+1,x+2

Next 3 consecutivenox+3;x+4,x+35

i.e. sum of last 3 consecutive no. is 9 more than sum of
first 3.

=27+9=36

(}.(}1—0.0001+l
0.0001

~0.0099
~0.0001

+1=99+1=100

By trick = 3 answer

. , _(\5+~E)
Xpression = ('\/5_\/5)

Rationalising the denominator,

W3+ +2)  ([BB)
(3 -v2)3 +2) = 3_2) = (3427

N3z
V,;_éa/(xmﬁﬁ -32

Expression
7 13 77-39
__ 3 1 __ 33
l1 3+ l3
34— 3+—
+1 10
3 38 38
33 _ 33 _ 33 38 33 38

L L 5,107 99410 337109 109
3043 33 13
10

3
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23. (b) Expression

32 a3 6
S B+6 Vo+V2 342
326 -3) 4HB(6-42)

T o+ B)Yo—B) Wov2do—2) |

V6 B-\2
W3+42) 3-42

_3W2(/6-43) 4V3(6-2)  Vo(V3-+2)

(6-3)

(6-2) (3-2)

= B8 —3) BB ~3) + B3 —E)
= 12 -J6-18+J6+/18 =412 =0

30. (@

(0.05)% +(0.41)% +(0.073)*
(0.005)% + (0.041)% +(0.0003)°

24. (b)

(0.05) +(0.41)% +(0.073)°

1 2 2 2
——(0.05)" +(0.41)" +(0.073
100( )7 +(041)7 +( )

9&=J3x2><2 +3xTx7

=9/x =23+7/3=93

25. ()

Lx=3

26. () %jl‘_

343 343

3
_#&ﬂ(‘izé_
“ V343 7 7

27. (@)
LX(xty)=247
andy(x+y)=114

127 _ #343—12?

—1-1
-

Let the numbers be x and y.

=x*+xy=247and xy+y' =114

On adding;

X2+ xy+xy+y2=247+114

=x2+2xy+y2 =361

=(x+y)=192=x+y=19

28. (a) Letthe number be x.

. 2-X —100
7 11

llx—?x_lm
11x7

= 4x=T77 =100

_ 77x100
= X= 4

4W3+52
BO Gsedis

:>4'J§+3\5+2\5

32.

=1925

l+2\5

4W3+3\2

8 www.jkchrome.com

=
a3 +342
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31 M)

By Rationalising

1+242(443-3V2)

(43 +342)(4V3-32)

1486 =12 1486 -12 30-12+86
48-18 30 ’ 30
E+E 6=a+b6

30 30
=a+ng

3.4 5
515

= 10

X 1+24
37
2x37 -10
135

=X+t

74
+—-=10
=X " 135

0 74 _1350-74 1276
=X=" 135 135 135

1 1 1
3+E+[3+J§ 3—J§]
1 (3-43-3-43)

3+ STNIITND

=5 G me-h)
1 283 3, 3 1

—_—tt—=—3+—=—-——"=31+

J3 9-3 NEE) NERENE
Let the number be x

) x+12

6
=x+12=672
= x=672-12=660

L

=3+

=112

660
.. Carrect answer = ?+12 =110+12=122
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33.

34.

35.

36.

37.

38.

39.

©

@

®)

@

@

®)

@)

40. (a)

9 www.jkchrome.com

By going options, 26 years is the present age. Present
age be 26, then last year age was 25 which represents a
perfect square and next year age would be 27 which
represents a cubic number.

J0.0441 =441 x0.21

Expression is (2.1) x

=0.9261
3372 %3458
—734x932 =63x34x2=63x2=126
547527 547527 10000 _
0.0082 1000 g
547527  x %1000 X
:> —

= =
82 10000 10
1

[3“]5 =27

=33

PR -]

= 3

. n
Comparing, 3 3

x=9

Time difference between 9.00 A.M & 2.00 PM =
Temperature difference between 21°C & 36°C
=36-21=15°C

Now, Time difference between 9.00 A.M & 12.00 Noon
=3 hrs.

5 hours

lemperature

In 5 hours 15°C
difference
1 t
So.In 3 hours L PCTAUIe [E « 3) 9°C
difference 5

So, temperature at noon =21+ 9=30°C

X = \,6+ 6+vO+........
On squaring,

x2 =6+ \}6+«}6+,.,..,.,,m

=x?=6+x

=X -x—-6=0

=X -3x+2x—-6=0
=x(x-3)+2(x-3)=0
=(x-3)(x+2)=0

= x =3 because x =2
Bytrick3x2=6
Jox/15 =x+10

= /2x3x4f3x5 = xm
= 2X-J§><3=J(-\/m

=3JE=XJE

=x=3

1
1. ® 3+«/§_(3

3

NG
_3=V5
9-5 4
3445 3-45
4 4
C12-3-45-3+45 _

4

—
by

g
3

3=

6 3
4 2

42, (d) According to the question,

8. ©

44.

45.

46.

@

(©)

(b)

www.jkchrome.com

n n n
—+—+g+?=n

10n+5n+4n
20

+7=n

19n 19n
= —+T7T=n=n——=7
20 20

= 7 n=20x7=140
20

675=5x5x3%x3x3
=3Ix 52
.. Required number =5

B BB
oy S Y
(543 (5

(v5-3)(5++53)
2k =215 > x=15

1+876542(876542+2)
(876542 +1)°

 1+(876542)% + 2876542

=4.\/§N!§=2JG

5-3

_(876542+1)°

(876542+1)° (876542 +1)°

1
2+
L -2 _ -2
"B iz 32
=J'—J'

v
vaw At

NESARGRG

. Expression
S B OV SO 3
=J6-\2=2(3-1)

N

%

=4 -3;

%
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47. (a) Ifthe number be x, then

3 3 =7 2x 3 7 2x
— 3 4 3 3 3 3
w e (-0
=3x—-x=21+7 4 3 4 4 4 4
=2x=28 N0 32
=x=14 :(Z) =[EJ =2x=10=>x=5
48. (©) \/_‘E+m=J2x2x2x2x2+~f2x2x2x2x3 58. (b) When no. of digit in a no. is 7 or 8 then in square root
’ V8412 V2x2%x2 ++4/2x2x3 will be 4.
3 3x4 12
42443 2042+243) 59. ) —=—=—
- — =2 4 4x4 16
22+23  (22+243) s e
95x0085 _ [95_ 85 10000 100 8 16
49. b) | =X X ——— X —
0.0017x0.19 10 1000 17 19 6 7 8 9 101112
= J5%5x100 =50 16716°16716716°16 16
I 1 - Reautired rati =2
50. (c) 1+72:1+W .. Required rational number 16
1544 * 19 60. (d) Expression
5 =250 +/18 =72
1+ 1 =1+£=29+19=ﬁ =2/2%5%5 +4/3%3%x2 —/2x2x2%x3x3
19410
- 2 27 —104V2+3¢2 - 632 =742 = 7x1.414=9.898
SL(©  /19.36 ++/0.1936 ++/0.001936 ++/0.00001936 61. d) Originalﬁ'action=x_4
=44+0.44+0.044+0.0044 =4 8834 In case II X
52. @ LCMof3,2and6=6 8(x—4—§)=x+1
. 5 % % = 8x—48=x+1
=3P =3)=9 = Tx=49=x=7
= 1 : 7-4 3
22 =(2)"=(8)° Original fraction=——=
1 l 1 2
16 = - 62. (d x*=y+z
(D =L(6)* = (6)* DX +HX=Xx+y+z
53. @ \J40+~Jox9 =49 =7 =x(x+1l)=xt+y+z
N X+y+z
= = =x+l=
5. @ 3H- 2}/0r23 2_26_1;:[1 X
L1333 L x
\5=32 0r323=36={’f2_7 = x+1 X+y+2z
342
Similarl
1 Yyl +l X+y+z
55. b 3t —_
NERETRC Ao L
L 1 3 \/_ ! \/’_+3 z+l x+y+z
f “3-43 B3 B+3 1 L
. +——o
E £ _'\/_ l+x I+y 1+z
1 3 6 —6
18423 +3-3-3-3 - * ¥y .z _xryrz.,
= X+y+2z X+y+zZ X+y+z X+y+z
1
18+2\/§—2-\/§ ~3 63. B) (a*+bo)y'=(22+32)1=(8+9)" =(17)" =ﬁ
6
56. (@) x—31=75-x 64. (@) 392x2=784—=(28)
2v=106 Hence, 2 can be multiplied by 392 which gives perfect
x=53 square.
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65. (@ 53010000 =4900 75. (¢) Letoriginal property worth = x
Again, /4900 =70 Property left for Ram’s widow = %
~ ¥24010000 =70 _ 3 2x 2x
66. (¢) 99 x99=9801 Property left for his daughter = gx 375
Alternate Method: Remaining property= X — (i + Z—XJ &
1002= 10000 which is a 5 digits number 35) 15
). :
Hence, 99- is required number. 4x = 6,400
67 E on= £33 ) 6,400
. (a) Expression= 7+4J§ 2 x15=24’000
Rationalising the denominator. 76. @) (5435642
C(4+3\B)7-43)  28-1643 4213123 Squaring both sides
(7+43)(7-43) 4948 5+3+ 2415 >6+2+ 212
= 28453 -36=5v3 -8 J15 > +/12 which is true
68. (@ Productof2nois=24 LI v i
Possible pair of factor= (1, 24) (2, 12) (3, 8) 22 G o
(4,6)ie.,4+6isminimum=10 17 451~ 334
69. @ (2 = & or7i= >3
r =2 78. (a) 2km Sm= 2+ ——=2.005km
6 = - 100~
x =3 79. @ 0.0539—0.002=0.0519
¥ =27 0.56 % 0.07=0.0392
0.0519 % 0.4=0.02076
0. o V24446 2646 _3V6 . 0.04x025=0.01
@_Jg 266 V6 o (0.0539-0.002)x04+0.56x0.07
@ 3 3_{2+§}] 0 0.04x0.25
L 13 _ 0.0519x04+0.0392 _ 0.02076+00392__
3:]322 5] - 0.01 - 0.01 e
24
L 80. (¢)
1 [3, 34 \/10+\/25+J103+\/154+J125
2x13 38
3x2x13 13
7;;4 -5 _\/10+J25+«/103+\1154+15 (4@ =13
72. @d) 9+3+4-8x2=2 38
Applying rules
oy _ V10++25+4/108+13 ( ’_121=11)
3x4+8-2=7 38
20-2=2 hos s it
2=18 _ N10++25+11 ( "'25+ll=6)
73. @) Nextterm willbe 38
(D) (D) (1)1 <2u2i382s - E R
JUTIUTIUTS) 737379757 o o
74. @ 4 2 JE_Z\[E_Z‘\/E_JE
T3(2) W2 2 2x3 6 3
({48 =35) + (70 —21) ][ (V6 ~35) - (416 —v21)] 3(242)
3
2 2 -
= (J6 =+35) =(v10-+21) 81 (¢) 3X-V=3xtv=p7=32

= 6+35-26-35-10-21+ 241021
= 10-2+210 +24/210 =10

11 www.jkchrome.com www.jkchrome.com

3 3
= 2x—y= > Xx+y= 3
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4x—-2y=3 (i) 86. (c¢) Bysquaring the given relations, we get (i) and (iii) are
2x+2y=3 .(i1) incorrect relations from the given statement.

Solvingequation(i)a?d(ii)l o @ , X\E—l_ﬁ ]
1 LA | : x= N Lo
x=1 y:E::tSI 2=32=V{§ '\/5+] \[5—]
3 5.6 3 5 .54 10 NOW’X+1=\/’5_1+1=‘/§
82. (o) [Ea b ¢ xaab c J+ Eﬂzb@ 88. (d) Let the number bex
1 10 31
= —gbpll o7 = — 52 = —=x=—x+7
58 b’ + oa b 46
1 27 3 . 3c-Leog
=—a6b“c7><]—32b1(:'3=Eaf"2b“ 1.7-3 = 757%
+9x—2x_?
=Ea4b1°c4 =—0H -
83. d A+B=120 () Ty
B+C=130 .. (i) E=7 Lx=12
C+A=140 ... (i)
Adding all three equations 5 5,
2A+2B+2C=390 Now, 3 ofx=3x12=20.
A+B+C=195 s
But, A+B=120 (2.3 +0.027
So,C=195-120=75 8. @ 237 0694009
84. (c¢) Let four numbersarea, b, c, d, then
atbtct+d=48 ..i) (2.340.3)[(2.3)" -0.69+ 0.09]
and a+5=b+1 (i) = [(23) -0.69 + 0.09]
o, a=b-4 .(1i1)
and ¢—3=d-7 (V) =23+03=26
c=d-4 (V) 90. (d) %/6, @'2_0, Q{z_s

Substituting equation (iii) and (v) in equation (i) we get _
b—4+b+d—4+d=48 LCMof3,4,6=24

b+d=28 (i) 2#9_3 24[56 24.!'254

But we know,

br1=d=7 24254<2%,‘9_8<2#20_°

. b=d-8
Substituting in equation (vi) we get ie  §25<39 <20
d—8+d=28
d=18 Alternate Method:
Solving this way we geta=6,b=10,c=14andd=18 111
as LR SRR SR SR 93,204,256
- © Vi-J6 Jo-5 5-2 87 3-8 L.C.M of Numbers of Powers=12
oL Tede 1 oS 12v9%12¢20° 124252
N6 JTed6 N6 e 52
12¢ 12 12
XJ§+2_ 1 XJ§+JT;+ 1 X3+J§ 6561 13/8000,'3/625
V542 VB-T JB+T 3-8 3+B 25 < Yo <4320
=,ﬁ+~/3_(‘/g+\/§)+\f5+2 91. (o)
" 7-6 6-5  5-4 92. (¢) Letthenumbersarexandy.
[J§+ﬁ) +3+~’,§ According to question
- 46
8-7 9-8 xty=— (D)
= JT 406 =6 -5 +/5 4287 +3+-8 14
=3 x-y=7 ...(i)
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93. ()

9. ()

95. ()

Uy

13 www.jkchrome.com

Adding eqn. (1) & (i1)
46+14 60
:_
3 3
=x=10

2x=

46
10+y‘=?

46 16
=y=371073

16 160 1
Product of number =10 x ? = T = 53»5

Here,

2X—3(2x-2)>x—-1<2+2x
2x—6x+6>x—1

= 2X—6x—x>-7

= -5x>-7

x <7/5 (1)
(x-1)<2+2x)
x—1<2+2x
-3<x

From (1) and (ii),
Xx=-2.

Here,

(i)

ﬁ+«/§ﬁ«/§()

4 2

25421-10421+4

10-221

_50-10¥21 _5(10-2421)
10-2421  10-2421

According to question.

Q2+DE+D 2+ 1) (25 +1)=2

Q+DEAH D2+ 1) (2 +])

(27+2+25+ 1) (2°+ 22+ 24+ 1)

@U+2%+28+22 421+ 2104 22+ 28 + 27+ 25+ 20+ 21
+23+22+2)+1

www.jkchrome.com

Here, a=2.n=15r=2

_a{r"—l]
Tl
202521
Sn="o—— =20"-1)
= (2'-2)
L @-2)+1=@21-1)

2+ 2+ D@+ D)2+ D) =(2"-1)

5.75%x5.75%x5.75+3.25%3.25x3.25
57.5%57.5+32.5x32.5-57.5%32.5

9.

(5.75)° +(3.25)°
00{{5.75)2 +(3.25) —5.?5x3.25}

This is in the form of

a’+b>  (a+b)a®+b’—ab)
a’+b>—ab (a> +b> —ab)
Herea=5.75,b=3.25

=(a+b)

(5.75) +(3.25)°
100{(5.?5)2 +(3.25)% ~5.75x 3.25}

=L (575+325)
100

= 9 =0.09.
100

o222
o [5-f-(2e)
R

97. (a)

16 21 32-21 11

3 3-pis3)]
5522

98. (b)

www.jkchrome.com



3_5+ § E 1_ 3 H 105.(¢) Here, + means—, —means +, X means + and + means x.
6 |3 4 19 They 42-12x34852+15
35 [8 [1 2 ? 8x2-4+9x3
6 |3 {4 g} 42+412+3-8x2-15
= 8=2+4-9x3
35 [8 3] 35 16 9_35.7
—*+ 35 - 12
6 [3 2 "% 6 42+ -8x2-15
35+7 42 - T3
6 = 6 ="7 5+4—9><3
001404 001404 _ 0.01404 —, %z—l_?
99. @) 5,2 (2 144 576+36-144 468 e
21
106. (a) 12+[30— {56 (34)+80}] =
_1404x107° s 2
VTR = 12+[30-23.8—-10.5]
= 12+[4.3]
25 565 83 107. 4) S=6+15-9 _ 5
1 8. [, (5,315 3 4-24+24 4
Paaral R by tarsery 108. @) a:b:c:d
3:4:5:6
1 .8 [11 (5 27
2ofls 2.4 10 10
295 {5 [16 16]} (E) =(§)
d 6
1 .8 [11 32
Sof e o1 11
2 5 |5 16 L
510 7 1024
1 .8 (11
Eofg+ ?—2 Sum=1+1024=1025
109.d) 90+200f6x[11+4of {3x2—(3-8)}]+(9+3x2)
Le8.1 = 90+120x[11+40f {6+5}]+(3%2)
255 .
—x[11+4x11]+6
l)( §X5=4 = 4)([ X ]
25
101. @) 4.5-(32+0.8x5)+(3x4+6) N %[“ 44146
2
=4.5—(4><5}+3><§ 31
- —x—=:6
=45-20+2=-13.5 4 4
102.(c) 152+58+2.9%x2-35x2+0.5 3.1
152+2%x2-7x2 = 4 24
152+ 4-14=52 ,
103.(¢) (9+302x2.4+0.30f12%(1-032+9x(0.32=2 = 35
= (037%2.4+3.6x(0.7)>+9x(0.09)
= (0.09)x24+1.764+9x(0.09) 10. @) 5-+|7-3:{1-1 wZil|-32142
= 198+08l 3 4) 3
= 27 16 [ 3) 2
104. (@) 20f3+3 %2+ {4x3—(5%2+3)} = 7—3—:[—]x—+11|—3+2
= 2x1x2+{12—(13)} 30 4) 3
= 2x2+{-1} -
= 4-1
= 3 =E+ ?—i E+1 -1
3 373
. 4
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—4x —+1]

-5 [
_16,
3
16 3
—= —1|-1
- { ] (5]
. © ?x21+26 1 6
1075 10 47 47
_1.7 47+(1—6)
105 10 47
_1,0_5
10 329 47
_3_5_
47 47
112. (b) | — 2 a3, fz—(4+3 0.5-1)¢
1 2 12 145
+
-1
2+é
4
( )
= 4—72 +Ex£—(4+£—l)
142 12145 5
4

15 www.jkchrome.com

113.

114.

115.

(b)

@

@

www.jkchrome.com

I
/_"“\

B [ ] 17x6
B 145

17%x6
—(9
} 145 (©)
o _[102,
T 29

_40-24 16

=—=1

37_%“8 37-21 16

145
-9
17x6

—1x32
4

1 1
8-3+6x2+(4+4x 1)+ 8+ (@xBxd)x ¢
8 3412+ —~+16

T 2

8- L i16++
4 2

97

(6.35)° +(3.65)°
(63.5)% +(36.5)> —(63.5)(36.5)

10[ (6.35) +(3.65) —(6.35><3,65)J
_ L

(63.5)% +(36.5)> —(63.5)(36.5)

10| L
10000

1

100

=0.1
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